



**Quava-tel**  
Building The Future

PIN P051511100D

## Purchase Order

**SUPPLIER**  
TOOLCRAFTS LTD

**SHIP TO**  
Quavatel Limited  
104796  
Nairobi, Nairobi 00101 KE

**P.O. NO.** 8002  
**DATE** 14/11/2023

ACTIVITY	QTY	RATE	AMOUNT
<b>AERIAL TOOL</b> Purchase of 2pcs of Adjustable Spanner 300mm - Anti Corrosion Treated @ kes 650			1,300.00
<b>AERIAL TOOL</b> Purchase of 2pcs of Ball Pain Hammer 160z - Carbon Steel @ kes 1,300			2,600.00
<b>AERIAL TOOL</b> Purchase of 2pcs of Center Punch (100mm/4mm) @ kes 620			1,240.00
<b>AERIAL TOOL</b> Purchase of 2pcs of Heavy Duty Long Nose Pliers - Jaw Length 55mm, Overall Length 200mm @ kes 540			1,080.00
<b>AERIAL TOOL</b> Purchase of 2pcs of Side Cutters (Flush Cut) @ kes 1,200			2,400.00
<b>AERIAL TOOL</b> Purchase of 2pcs Junior Hacksaw (150mm) and assorted blades @ kes 700			1,400.00
<b>AERIAL TOOL</b> Purchase of 2pcs Self Gripping wrench (Moie Grips) 150mm. @ kes 1,400			2,800.00
<b>AERIAL TOOL</b> Purchase of 2pcs Tape Measure (3 Metre).@ kes 400			800.00
<b>AERIAL TOOL</b> Purchase of 2pcs Spirit Level (250mm-0.5mm Accuracy).@ kes 1,300			2,600.00

ACTIVITY	QTY	RATE	AMOUNT
<b>AERIAL TOOL</b> Purchase of 2pcs 240v Hammer Drill (600W-1200W) @ kes 8,700			17,400.00
<b>AERIAL TOOL</b> Purchase of 2pcs 240v Heat Gun (1500W-2000W). @ kes 7,300			14,600.00
<b>AERIAL TOOL</b> Purchase of 2pcs Extension Lead (13 Amp 20 Meter). With thermal cut out switch @ kes 7,000			14,000.00
<b>AERIAL TOOL</b> Purchase of 2pcs Drill Bits (HSS-6/8/10/12/16mm Masonry) @ kes 2,700			5,400.00
<b>AERIAL TOOL</b> Purchase of 2pcs Floor Tile Lifter (Double Suction 80kg Max). @ kes 2,600			5,200.00
<b>AERIAL TOOL</b> Purchase of 2pcs Jigsaw Blades (HSS-Steel) @kes 400			800.00
<b>AERIAL TOOL</b> Purchase of 2pcs Cable Crimper (8-2 AWG). @ kes 1,500			3,000.00
<b>AERIAL TOOL</b> Purchase of 2pcs Insulation/Continuity Test Meter (500V), IEC 1010-1 Compliance @ kes 31,000			62,000.00
<b>AERIAL TOOL</b> Purchase of one Volt Meter (Digital Multi-Meter), IEC 1010-1 Compliance @ kes 2,200			2,200.00
<b>AERIAL TOOL</b> Purchase of 2pcs Ratchet crimp tool for bootlace ferrule @ kes 4,500			9,000.00

SUBTOTAL 149,820.00  
TAX 23,971.20  
TOTAL KES 173,791.20

Approved By

  
Country Manager: Joel Muiga  
15 NOV 2023  
Building The Future  
P.O. Box 104755, NAIROBI - KENYA

Date

15.11.2023



# TOOLCRAFTS Ltd.

P.O.Box 44993-00100, Nairobi, Kenya

Tel: 0722655848 ; 0787467919

Email: info@toolcrafts.com



ITEM DESCRIPTION	UOM	UNIT PRICE	QTY	TOTAL
<b>Hand Tools</b>				
Adjustable Spanner 300mm - Anti Corrosion Treated.	PC	650.00	2	1,300.00
Ball Pain Hammer 16oz - Carbon Steel.	PC	1,300.00	2	2,600.00
Center Punch (100mm/4mm).	PC	620.00	2	1,240.00
Heavy Duty Long Nose Pliers - Jaw Length 55mm, Overall Length 200mm	PC	540.00	2	1,080.00
Side Cutters (Flush Cut).	pcs	1,200.00	2	2,400.00
Junior Hacksaw (150mm) and assorted blades.	pcs	700.00	2	1,400.00
Self Gripping wrench (Mole Grips) 150mm.	pc	1,400.00	2	2,800.00
Tape Measure (3 Metre).	pc	400.00	2	800.00
Spirit Level (250mm-0.5mm Accuracy).	pc	1,300.00	2	2,600.00
<b>Electrical</b>				
240V Hammer Drill (600W-1200W).	pc	8,700.00	2	17,400.00
240V Heat Gun (1500W-2000W).	pc	7,300.00	2	14,600.00
Extension Lead (13 Amp 20 Meter). With thermal cut out switch.	pc	7,000.00	2	14,000.00
<b>Additional Equipment</b>				
Drill Bits (HSS-6/8/10/12/16mm Masonry).	set	2,700.00	2	5,400.00
Floor Tile Lifter (Double Suction 80kg Max).	Pce	2,600.00	2	5,200.00
Jigsaw Blades (HSS-Steel).	Pce	400.00	2	800.00
Cable Crimper (8-2 AWG).	Pce	1,500.00	2	3,000.00
Insulation/Continuity Test Meter (500V), IEC 1010-1 Compliance.	Pce	31,000.00	2	62,000.00
Volt Meter (Digital Multi-Meter), IEC 1010-1 Compliance.	Pce	2,200.00	1	2,200.00
Ratchet crimp tool for bootlace ferrule.	Pce	4,500.00	2	9,000.00

<b>SUB-TOTAL</b>						<b>151,820.00</b>
<b>VAT 16%</b>						<b>24,291.20</b>
<b>TOTAL AMOUNT</b>						<b>176,111.20</b>



9/11/2023

No	Description	UOM	QTY	Unit price	Total amount
1	Adjustable spanner 300mm-Anti corrosion treated	pcs	2	650	1,300.00
2	Ball pain Hammer 1602 -Carbon steel	pcs	2	1,300	2,600.00
3	Center punch 100mm/4mm	pcs	2	620	1,240.00
4	Heavy Duty Long Nose pliers -Jaw length 55mm	pcs	2	540	1,080.00
5	Side cutters(Flush cut)	pcs	2	1,200	2,400.00
6	Junior Hacksaw(150mm)and assorted blades	pcs	2	700	1,400.00
7	Self Gripping wrench (mole grips)150mm	pcs	2	1,400	2,800.00
8	Tape measure 3m	pcs	2	400	800.00
9	Spirit level (250mm-D.5mm Accuracy)	pcs	2	1,300	2,600.00
10	240V hammer Drill(600w-1200w)	pcs	2	8,700	17,400.00
11	240v Heat Gun(1500w-2000w)	pcs	2	7,300	14,600.00
12	Extension lead (13Amp 20m)with thermal cut out switch	pcs	2	7,000	14,000.00
13	Drill bits(HSS-6/8/10/12/16mm masonry)	pcs	2	2,700	5,400.00
14	Floor Tile lifter (Double suction 80kg max)	pcs	2	2,600	5,200.00
15	Jigsaw blades(hss steel)	pcs	2	400	800.00
16	Cable crimper (8-2 AWG)	pcs	2	1,500	3,000.00
17	Insulation /continuity tester 500v IEC 1010-1 compliance	pcs	2	31,000	62,000.00
18	Volt meter (Digital Multi meter)IEC 1010-1 Compliance	pcs	1	2,200	2,200.00
19	Ratchet crimp tool for bootlace ferrule	pcs	2	4,500	9,000.00
					23,971.20
	<b>Total Amount</b>				<b>172,791.20</b>

Purchase of  
Phoebe Sika

Prepared by :Procurement

Name:Jecildah Chepkoech

9/11/2023

Signature 

Checked by:CTO

Name:Hillary Muta

9/11/2023

Signature 

Verified:Finance

Name:Fancy Chebet

9/11/2023

Signature : 

Approved By

Country Manager:Joel M'agal

9/11/2023

Signature

ProCraft

CRAFTSMAN

# TOOLCRAFTS Ltd.

P. O. Box 44993-00100, Nairobi, Kenya

Tel: 0722655848; 0787467919

Email: info@toolcrafts.com

VAT No: 01029350

PIN: P051109336Y



## Tax Invoice / Delivery Note

Date : 17-Nov-2023

Page: Page 1

Document No: 22920

Currency : Ksh

**To:**

**Quavatel Limited**

Sameer Business Park D1

3rd Floor,

Nairobi, Kenya.

**PIN : P051511100D**

**Deliver To:**

Sameer Business Park D1

3rd Floor,

Nairobi, Kenya.

Account	Your Reference	Tax Exempt	Tax Reference	Sales Code
	104796	No		Delivery Note:

Item Code	Description	Quantity	Unit Price	Disc%	VAT	Net Price
PRAW12	ADJUSTABLE WRENCH 12" PROCRAFT ✓	2 Pcs	650.00	0 %	16 %	1,300.00
STHT54191-8	BALL PEIN HAMMER WOOD HANDLE 160z STANLEY ✓	2 Pcs	1,300.00	0 %	16 %	2,600.00
82269	CENTRE PUNCH 1/4" ✓	2 Pcs	620.00	0 %	16 %	1,240.00
PRLNPL8	LONG NOSE PLIERS 8" PROCRAFT ✓	2 Pcs	540.00	0 %	16 %	1,080.00
PRSCPL7	SIDE CUTTING PLIERS 7" PROCRAFT ✓	2 Pcs	1,200.00	0 %	16 %	2,400.00
0-15-218	HACKSAW JNR 150MM-6BLADE LEN 254MM-10 ✓	2 Pcs	700.00	0 %	16 %	1,400.00
3706	TEKTON LOCKING PLIERCURVED JAW7" ✓	2 Pcs	1,400.00	0 %	16 %	2,800.00
TPR-3	TAPE MEASURE 3M RYOBI ✓	2 Pcs	400.00	0 %	16 %	800.00
1405-0900	TORPEDO LEVEL 9"/23CM ✓	2 Pcs	1,300.00	0 %	16 %	2,600.00
PD-650	IMPACT DRILL 13MM RYOBI ✓	2 Pcs	8,700.00	0 %	16 %	17,400.00
GHG180	ELECTRIC HEAT GUN 1800W ✓	2 Pcs	7,300.00	0 %	16 %	14,600.00
EC10	EXTENSION CABLE 13A ✓	2 Pcs	7,000.00	0 %	16 %	14,000.00
DRIL-SB-6.5x100	MASONRY-CONCRETE DRILL 6.5 x 100 ✓	2 Pcs	2,700.00	0 %	16 %	5,400.00
DRIL-SB-8.5x120	MASONRY-CONCRETE DRILL 8.5X120 ✓	2 Pcs		0 %	16 %	
DRIL-SB-10x120	MASONRY-CONCRETE DRILL 10.0 x 120 ✓	2 Pcs		0 %	16 %	
DRIL-SB-12x150	MASONRY-CONCRETE DRILL 12.0 x 150 ✓	2 Pcs		0 %	16 %	

continued ...

**TOOLCRAFTS LTD.**  
P. O. Box 44993 - 00100, NAIROBI  
Cell: 0722 655 848  
0787 467 919



ALMALIK  
AB!

**CRAFTSMAN**

# TOOLCRAFTS Ltd.

P. O. Box 44993-00100, Nairobi, Kenya

Tel: 0722655848 ; 0787467919

Email: info@toolcrafts.com

VAT No: 01029350

PIN: P051109336Y



## Tax Invoice / Delivery Note

Date : 17-Nov-2023

Page: Page 2

Document No: **22920**Currency : **Ksh****To:****Quavatel Limited**

Sameer Business Park D1

3rd Floor,

Nairobi, Kenya.

**PIN : P051511100D****Deliver To:**

Sameer Business Park D1

3rd Floor,

Nairobi, Kenya.

Account	Your Refence	Tax Exempt	Tax Reference	Sales Code
	104796	No		Delivery Note:

Item Code	Description	Quantity	Unit Price	Disc%	VAT	Net Price
DRIL-SB-16X150	MASONRY-CONCRETE DRILL 16X150	2 Pcs		0 %	16 %	
DSP023	DOUBLE SUCTION PAD 70KG	2 Pcs	2,600.00	0 %	16 %	5,200.00
8615	JIG SAW BLADE 8615	2 Pcs	400.00	0 %	16 %	800.00
CCTR50	RATCHET CRIMPING TOOL 7.73-8.1MM	2 Pcs	1,500.00	0 %	16 %	3,000.00
UT501A	Insulation Resistance Tester (High Voltage Indi.)	2 Pcs	31,000.00	0 %	16 %	62,000.00
UT33B	DIGITAL MULTIMETER UT33B	1 Pcs	2,200.00	0 %	16 %	2,200.00
CR611U	HEX CRIMPING TOOL	2 Pcs	4,500.00	0 %	16 %	9,000.00

A/MALIK  
SH**E.&O.E. Received in Good Order and Condition:**

Declaration 1. Payment is strictly 30 Days from Date of Invoice. 2% Interest will be charged on all overdue accounts. 2. Complain of Invoice should be within Seven Days. 3. Goods remain property of Company until fully paid 4. Goods returned will be subject to 10% handling Cl 5. Our responsibility ends with delivery of Goods.	<b>Sub Total</b>	149,820.00
	<b>Discount</b>	
	<b>Amount Excl VAT</b>	149,820.00
	<b>VAT</b>	23,971.20
	<b>Grand Total</b>	173,791.20

**TOOLCRAFTS LTD.**  
 P. O. Box 44993 - 00100, NAIROBI  
 Cell: 0722 655 848  
 0787 467 919

